


DIN 69871 A DIN 69871 AD/B

DONNEES TECHNIQUES QUEUE D’OUTILS

TAPER SHANKS DATA SHEET
EmEER
DIN 69871/A
7.00 o
B
&,
Yl
f
11

31,75 47,8 13 M12 15,9 45 59,3 16,1
40 44,45 68,4 17 M16 3 2 63 55 15,9 50 72,3 35 16,1
50 69,85 101,75 25 M24 3,2 97,5 158 80 107,25 35 25,7

DONNEES TECHNIQUES QUEUE D’OUTILS

TAPER SHANKS DATA SHEET '
EMEER
7.00 DIN 69871 AD/B
=
S
o= o 3| 8
N
P
f
I e
FORM AD FORM B

ﬂ-ﬂ---ﬂﬂﬂﬂ

4445 684 17 M16 3,2 63,55 159 72,3 16,1
50 69,85 101,75 26 M24 3,2 97,5 15,9 80 107,25 35 25,7 5 42

Das Kiihimittel geht durch die Locher am Bund (B) oder, wenn die Locher mit den Schrauben geschlossen werden, zentral durch Aufnahme (AD).
For coolant through V-flange bores (B) or center of toolholders (AD). For central coolant, the V-flange channels are closed by socket screws.

[ns nopaun COX yepes oTeepcTIis BO hnaHLe (hopma B) 1 yepes LienTpansHoe oteepcTue (hopma AD). Ans nogaun COX yepes LieHTpanbHoe
0TBEPCT/IE GOKOBbIE JOMDKHbI ObITh 3KPBITBI BIHTAMI.

Le lubrifiant passe par les trous de la bride (B) ou, si on ferme les trous avec des vis, par le centre du mandrin (AD).

IIubrificante passa dai fori sulla flangia (B) oppure, chiudendo i fori con le apposite viti, dal centro del mandrino (AD).

RAFIFBEVEEZA (B) R (AD)e WFHRIGAF, VEZZRERAMARLTEN.




DIN 69871 A DIN 69871 AD/B

KINTEK - STEILKEGELAUFNAHMEN

Alle Kintek-Steilkegelaufnahmen werden nach den DIN-Normen angefertigt.

KEGELSCHAFTTOLERANZ

In Klasse AT3 angefertigt.

30 42

12.250 +0.002 a ISO S
40 59 17.208 +0.003
50 92 26.833 +0.004

SPANNZANGENAUFNAHME RUNDLAUFGENAUIGKEIT

Die DIN 6391- Norm schreibt eine Rundlaufgenauigkeit zwischen Aussenkegel und Innenkegel / Spannzangensitz vom 0,016 vor.
Unsere Spannzangenfutter weisen einen Rundlauffehler zwischen 1ISO-Kegelaufnahme und Spannzangensitz, der zwischen
0,003 und 0,010 mm liegt.

AUFSTECKFRASDORNE - RUNDLAUFGENAUIGKEIT

Kintek- Aufsteckfrasdorne entsprechen der DIN 6358- Norm, die einen hdchsten Rundlauffehler zwischen ISO 30- und 1ISO40-
Kegel und den Durchmessern 16-22-27-32-40 vom 0,01 vorsieht.
Der mogliche héchste Rundlauffehler fur ISO 50 ist 0,015 mm.

WELDON AUFSTECKFRASDORNE - RUNDLAUFGENAUIGKEIT

Nach der DIN 6359-1-Norm missen die Weldon- Aufsteckfrasdorne die folgenden Forderungen aufweisen:
Bohrung: Toleranz H5

Rundlaufgenauigkeit: hochster moglicher Rundlauffehler zwischen Kegel und Weldonsitz < 0,01 (fur ISO 40)

Die vorgeschriebene Toleranz der Bohrung und eine durchschnittliche Rundlaufgenauigkeit von 0,005 sind erreicht.

WUCHTUNG

Die meisten Werkzeughalter dieser Gruppe sind in Klasse G6,3 auf 8.000 U/Min -1 vorgewuchtet oder auf 12.000 U/Min -1
gewuchtet.
Neben der Ubersichtstabelle der Produkte wird die Wuchtgiite angegeben.

KONSTRUKTIONSDATEN

e aus legiertem Einsatzstahl angefertigt

e in der Einsatzhartetiefe von 0,4-0,5 mm

e gehértet, angelassen

o Harte HRC58 +-2, Festigkeit 800-1000 N/mm2

o briniert

e inneres, aufleres Schleifen und am Gewinde der Spannzangenmutter

WUCHTUNG FUR HOHERE DREHZAHLEN

Die Hochgeschwindigkeit- Steilkegelaufnahmen der neuen Linie werden in Klasse G2,5 auf 25.000 U/Min -1 gewuchtet.

KONSTRUKTIONSDATEN

e aus legiertem Einsatzstahl angefertigt

e in der Einsatzhartetiefe von 0,4-0,5 mm

o gehartet, angelassen

o Harte HRC 58 +- 2, Festigkeit 800-1000 N/mm2

e briiniert

e inneres, aulReres Schleifen des Kegels

o Schleifen der Vorderseite und am Gewinde der Spannzangenmutter

© 100% durch zertifizierte Mef3instrumente gepruft und mit Wuchtungsprotokoll geliefert




DIN 69871 A DIN 69871 AD/B

< KINTEK DIN TOOLHOLDERS

ALL KINTEK TOOLHOLDERS ARE MANUFACTURED ACCORDING TO DIN NORM.

CONE’S TOLERANCE

ACCORDING TO THE CLASS AT3.

30 42

o
12.250 +0.002 S ISO 3
40 59 17.208 +0.003
50 92 26.833 +0.004

COLLET CHUCK'S RUNOUT ACCURACY

The norm DIN6391 permits a runout error between external cone and internal cone / collet seat of 0.016.
Our production has a runout accuracy which is guaranteed to be within 0,003 / 0,010 m at the tool seat.

SHELL END MILL ADAPTOR'S RUNOUT ACCURACY

Our shell end mill adaptors meet the requirements of the norm DIN6358, which prescribes for diameters 16-22-27-32-40 a
runout accuracy of: 0, 01 for SK 30/40 0,015 for SK 50.

WELDON END MILL HOLDER'S RUNOUT ACCURACY

According to the norm DIN6359-1 Weldon end mill holders have to meet the following requirements:

Bore: H5 tolerance

Runout accuracy: < 0.01 (for SK 40)

Our end mill adaptors ensure the prescribed holes' tolerance and have a runout accuracy which is normally 0.005

BALANCING

The major part of toolholders of this category can run up to 8000 rom grade G 6,3 or 12000 rpm.
Besides the descriptive and dimensional table of products, you can find the addictive balancing grade.

CONSTRUCTIVE FEATURES

® Manufactured with Casehardening Steel.

o Casehardened with depth 0,4 - 0,5 mm

o Hardened-Tempered

® Hardness HRC 58+-2, Strength 800-1000 N/mm2
o Black oxided

e Internal and external grinding finished.

NEW HIGH-SPEED BALANCING TOOLHOLDERS
The new high-speed toolholders are balanced in the Grade G 2,5 at 25000 rpm.

CONSTRUCTIVE FEATURES FOR HIGH-SPEED TOOLHOLDERS

® Manufactured with casehardening Steel.

o Casehardened with depth 0,4 - 0,5 mm

o Hardened-Tempered

o Hardness HRC 58+-2, Strength 800-1000 N/mm2

e Black oxided

o Internal and external grinding finish of the cone

e Grinding finish on the front side and on the thread of collet nuts.

o Tested 100% with certified measuring instruments and supplied with balancing certificate




DIN 69871 A DIN 69871 AD/B

OMPABKW KINTEK 10 DIN

BcE onraBKy KINTEK MPOVIBBELEHBI COMTACHO CTAHAAPTY DIN.

TOYHOCTb KOHYCA
L
COOTBETCTBYET K/iAccy AT3.
30 42 12.250 +0.002 s | I1SO S
40 59 17.208 +0.003
50 92 26.833 +0.004

BUEHUE LIAHIOBbIX TATPOHOB

B cootsetcTBue ¢ Hopmamu DING6391, gonyctvmoe breHne KoHyca omnpaBkii OTHOCUTE/TbHO KOHMYECKOro 0TBEPCTUS oA LaHry coctasnsieT 0,016 M.
[apaHTpOBaHHasi TOYHOCTb BUEHUsST OTBEPCTUS 04 MHCTPYMEHT - 0,003 mm/0,010 M.

BUEHUNE OrNPABOK A4J1A HACAAQHbLIX ®PE3

[1aTpoHbI M3roTOB/IEHBI B COOTBETCTBYME C TpeboBaHmsmy DIN 6358, cornacHo KoTopkiM bueHne a5 avameTpoB 16-22-27-32-40
coctassnisiet 0,01 mm g5 SK 30/40 1 0,015 mm g1 SK 50.

BUEHWE NMATPOHOB C KPEIJIEHUEM WELDON

OnpaBsky cOOTBETCTBYIOT CrieaytoLLym TpebosaHusm DIN 6359-1:

TouHoCTb OTBEPCTUS: H5

Buerue: < 0,01 (grs SK 40)

Onpasky Kintek n3roToBIeHs! C rapaHTUPOBaHHOM TOYHOCTHI0 OTBEPCTUI 1 breHrem 0,005 M.

BAJIAHCUPOBKA

OripaBku JaHHOW KaTeropum NpeasapuTesisHo cbasiaHcHpoBaHs! Mo knaccy G6,3 npy 8000 06/myH i 12000 06/MuH.

KOHCTPYKTUBHbBIE OCOBEHHOCTH

® /13rOTOB/1EHBI U3 CTA/IM C NOCAEAYIOLLEN LIeMeHTaLUmuen
® [ lemeHTaLms Ha riybuHy 0,4 - 0,5 Mm

© OripaBky MOABEPrHYTbI 3aKa/IKe 1 OTITYCKY

® Teepaocts 58+/-2 HRC, npoyHocTs 800-1000 H/mm2
® 3aluTHO-/AEKOpaTVBHOE MOKPKITVE HYEPHOIO LiBeTa

® [lImehoBaHHbIEe BHYTDEHHSIS I BHELLHSIS TOBEPXHOCTY

HOBbIE BbICOKOCKOPOCTHBLIE CEAJTAHCUPOBAHHBIE OlMPABKU

HoBble BbICOKOCKOPOCTHbIE 0npaBKy coanaHcypoBaHsl o knacca G 2,5 npu 25000 06/MiH.

KOHCTPYKTUBHbBIE OCOBEHHOCTU BbICOKOCKOPOCTHbIX ONMPABOK

® //13r0TOB/1EHBI U3 CTA/IM C MOCAEAYIOLLEN LIEMEHTaLmen

® [ |emeHTtaumsi Ha riybuHy 0,4 - 0,5 mm

© OripaBKu 04BEPrHyTbI 3aKaJIKe 1 OTIYCKY

® TBepaoctb 58+/-2 HRC, npo4HocTs 800-1000 H/mm2

® 3aLUTHO-AEKOPATUBHOE MOKPKITVE YEPHOIO LiBETa

® [lInnchoBaHHbIe BHYTPEHHSIS Y BHELLHSIS| TOBEPXHOCTY

® [[InghoBaHHbI TopeL 1 peabba nof raviky B LIaHroBbIX raTpoHax

® Kak/as onpaBka UCrbITaHa 1 MOCTaB/ISIETCS C CEPTUDUKATOM O ba/laHCUPOBKE




DIN 69871 A DIN 69871 AD/B

I MANDRINS KINTEK AVEC ATTACHEMENT ISO

Tous LES MANDRINS PORTE-OUTILS KINTEK SONT PRODUITS SUIVANT LES SPECIFICATIONS DIN

TOLERANCE DU CONE

EN cLASSE ATS3.

30 42

o <

12.250 +0.002 © ISO T
40 59 17.208 +0.003
50 92 26.833 +0.004

COAXIALITE' PORTE-PINCE

La norme DIN6391 admet une erreur maximum du 0.016 soit pour les porte-pinces DIN6499 soit pour DIN6388.
Dans notre production I'écart d'excentricité maximum entre cone ISO et logement de la pince est compris entre:
0,003 et 0,0010 mm.

COAXIALITE' PORTE-FRAISES FIXES ET COMBINES

Les porte-fraises fixes et combinés de notre production suivent la spécification de la norme DIN6358, qui prévoit pour les
diameétres 16-22-27-32-40 une concentricité de 0,01 pour ISO 30 et ISO 40 0,015 pour ISO 50

COAXIALITE" PORTE-FRAISES WELDON

Suivant les spécifications DIN 6359-1 les porte-fraises WELDON doivent suivre les conditions suivantes:
Trou : tolérance H5

Coaxialité: écart maximum toléré entre cone et logement du Weldon <0.01 (pour ISO 40).

Nous assurons la tolérance prévue sur le trou et une coaxialité en moyenne de 0.005.

EQUILIBRAGE

La plupart des porte-outils sont pré-équilibrés en classe G 6,3 8000 Tr/Min -1. ou équilibrés a 12000 Tr/Min-1.
A c6té du tableau de description et dimensions des produits il y a I'indication de la valeur d'équilibrage additionnel.

ELEMENTS DE CONSTRUCTION

o Produits en acier cémenté allié.

e Cémentés avec une profondeur 0,4 - 0,5 mm

o Trempés - Revenus

o Dureté HRC 58 +- 2 résistance 800-1000 N/ mm2

® Brunis

o Rectification du cone intérieur, extérieur et dans le filetage des écrous qui serrent la pince.

EQUILIBRAGE MANDRINS POUR HAUTE VITESSE

Les mandrins de la nouvelle ligne a haute vitesse sont équilibrés en classe G 2,5 a 25000 Tr/mn-1.

ELEMENTS DE CONSTRUCTION POUR MANDRINS HAUTE VITESSE

o Produits en acier cémenté allié.

e Cémentés avec une profondeur 0,4 - 0,5 mm

e Trempé - Revenu

o Dureté HRC 58 +- 2 résistance 800-1000 N/ mm2

® Brunis

e Finition de rectification intérieure, extérieure et du cbne

o Rectification du cone intérieur et dans le filetage des écrous qui serrent la pince.

e Contrélés a 100 % avec des instruments de mesure certifiés et livrés avec un certificat d'équilibrage.




DIN 69871 A DIN 69871 AD/B

I MANDRINI KINTEK CON ATTACCO ISO

TUTTI | MANDRINI PORTAUTENSILI KINTEK VENGONO PRODOTTI SECONDO LE NORMATIVE DIN

TOLLERANZA DEL CONO

PrODOTTI IN CLASSE AT3.

30 42

o <

12.250 +0.002 © ISO o
40 59 17.208 +0.003
50 92 26.833 +0.004

COASSIALITA PORTAPINZE

La norma DIN6391 ammette un errore massimo di 0.016 sia per i portapinze DIN6499 che per DIN6388.
La nostra produzione normalmente presenta uno scostamento massimo di eccentricita tra cono I1SO e sede pinza compreso tra
10,003 e 0,010 mm.

COASSIALITA PORTAFRESE FISSI E COMBINATI

| portafrese fissi e combinati di nostra produzione rispondono ai criteri prescritti dalla norma DIN6358, la quale prevede un
errore massimo di coassialita tra cono I1SO 30 e ISO 40 ed i diametri 16-22-27-32-40, di 0,01.
Mentre per ISO 50 & ammesso un errore massimo di 0,015 mm.

COASSIALITA PORTAFRESE WELDON - WHISTLE NOTCH

Rispettando la normativa DIN 6359-1 i portafrese WELDON deveno rispondere ai seguenti requisiti:
foro: tolleranza H5

coassialita: scostamento massimo consentito tra cono e sede Weldon <0.07 (per ISO 40)
Garantiamo la tolleranza prescritta sul foro e un valore di coassialitd mediamente di 0.005.

EQUILIBRATURA

La maggior parte dei portautensili presenti in questa categoria sono prebilanciati in classe G 6,3 8000 rom min -1. o bilanciati
a 12000 giri rom min-1.
A fianco della tabella descrittiva e dimensionale dei prodotti viene elencato il grado di equilibratura aggiuntiva.

DATI COSTRUTTIVI

o Costruiti in acciaio da cementazione legato.

o Cementati con profondita 0,4 - 0,5 mm

® Temprati-rinvenuti

® Durezza HRC 58 +- 2 resistenza 800-1000 N/ mm?2

® Bruniti

e Finitura di rettifica interna, esterna e nelle filettature delle ghiere chiudipinza

EQUILIBRATURA MANDRINI PER ALTE VELOCITA’

| mandrini presenti nella linea nuova ad alta velocita vengono bilanciati in classe G 2,5 a 25000 rom min - 1.

DATI COSTRUTTIVI MANDRINI PER ALTE VELOCITA’

o Costruiti in acciaio da cementazione legato.

o Cementati con profondita 0,4 - 0,5 mm

e Temprati-rinvenuti

® Durezza HRC 58 +- 2 resistenza 800-1000 N/ mm?2

® Bruniti

e Finitura di rettifica interna, esterna del cono

e Rettifica parte anteriore e nelle filettature delle ghiere chiudipinza

e Collaudati 100% con strumenti di misura certificati e forniti con certificato di bilanciatura.




DIN 69871 A DIN 69871 AD/B

KINTEK %4 DIN 5K 7]4%

Fr B KINTEK JIARESAEHE DIN FrfER &

HIRHIRE L
1RIE AT3 5
aA-ds TS
o
30 42 12.250 +0.002 = ISO <
40 59 17.208 +0.003
50 92 26.833 +0.004

SR IMZERENEE
DING391 ¥Rt S YFESNIBSE R 5 PO B H (/5 SLBE 2 JBIR 12 IR RN IR 2 49 0.016.
R A PRI TRIREEAL BRI 0,003 /0,010 % Z 8l

FEGEE KRR R E BN E

F AR EGIESLSHE DING3SS FRfEEK, ZFRENE TERN 16-22-27-32-40 MR MK EEE,
%FFSK 30/40 70, 01, ¥FFSK 50550,0150

B/RER IR ENZ S E

IRHE DING359-1 ¥RERIE, BUREINRFTRENNEIREI TFEX:

FL: H5igE

ZHEBEEE: <0.01 (5F SK 40)
RATMPESELHRTRIMENINIZE, BENREREIREERN 0.005.

T
AN TR ER MBI REEEAIAE G 6,3 HHI8000 ¥/533HEk 12000 ¥/53%h-

LR

o FIRE LIRS HiE

o BELIRITHA 04 - 0,5 K.

o BT E KA.

o FEEEIX HRC 58+-2, SRBLIK 800-1000 N/ T3 &Ko
«EBAL.

o W AN ERARE T AL

SR 15 T4
SRR G 2,59, 25000 $/5 AT .

=R T)RA =

o FIRE LIRS HliE-

o ELREEIL 04 - 0,5 K.

o ZREIL K m K AbFE o

o WEREIA HRC 58+-2, SREEIX 800-1000 N/ T3 XK.
e REBEL.

o RN K SNBREFTELE
o R IR R I EA_E EHEITITEAE.
o EAZAMERNE XN, HENRETERNNITES.




DIN'69871 AD/B

MANDRINS POUR OUTILS TYPE WELDON
BRERmTRE

END MILL HOLDERS WELDON

DIN 1835 B

FORM AD

= [~ p===== i J\ Jt | ,J __
o e S
B - ﬂ— ****** -
FORM B ] | —
x AL

213-91301 TC40H50WE06 AD+B 40 6 50 25 °
213-91302 TC40H50WE08 AD+B 40 8 50 28 °
213-91303 TC40H50WE10 AD+B 40 10 50 35 °
213-91304 TC40H50WE12 AD+B 40 12 50 42 °
213-91306 TC40H63WEL16 AD+B 40 16 63 48 J
213-91308 TC40H63WE20 AD+B 40 20 63 52 °
213-91309 TC40H100WE25 AD+B 40 25 100 65 °
213-91310 TC40H100WE32 AD+B 40 32 100 72 °
213-91319 TC50H63WE20 AD+B 50 20 63 52 J
213-91320 TC50H80WE25 AD+B 50 25 80 65 [
213-91321 TC50H100WE32 AD+B 50 32 100 72 °

High balanced

Ersatzteile e Spare parts e Pieces détachées ¢ Componenti e 3anacHble yacTu ¢ E {4

(= (=

4
N

o (S o [t o

ISO40 811-102002 M4X5 2 811-102002 M4X5 2 6 811-106001 1
ISO50 811-102001 M4X4 2 811-102010 M5X6 2 8 811-106002 1
10 811-106004 1

12,14 811-106005 1

16,18 811-106006 1

20 811-106007 1

25 811-106008 2

2

32 811-106009




DIN69871.AD/B

MANDRINS POUR OUTILS TYPE WELDON-SERIE LONGUE
END MILL HOLDERS WELDON-LONG PROJECTION TYPE
BRENmTRE-KPOAN

DIN 1835 B

FORM B aﬁ—

I N B S I N

213-91324 TC40H100WE06 AD+B 100 °
213-91325 TC40H100WEO8 AD+B 40 8 100 28 38 °
213-91326 TC40H100WE10 AD+B 40 10 100 35 40 [
213-91327 TC40H100WE12 AD+B 40 12 100 42 - °
213-91329 TC40H100WE16 AD+B 40 16 100 48 = J
213-91331 TC40H100WE20 AD+B 40 20 100 50 - d

High balanced

Ersatzteile o Spare parts ¢ Pieces détachées « Componenti e 3anacHble yactu ¢ {4

2] \ § o \ § o
ISO40 811-102002 M4X5 2 811-102002 M4X5 2 6 811-106001 1
ISO50 811-102001 M4X4 2 811-102010 M5X6 2 8 811-106002 1
10 811-106004 1
12,14 811-106005 1
16,18 811-106006 1
20 811-106007 1
25 811-106008 2
32 811-106009 2




DIN69871.AD/B

MANDRINS POUR OUTILS TYPE WELDON

END MILL HOLDERS WELDON
BURERIRGRER
) DIN 1835 B
ORN (D
FORM AD \%ﬂ: i
= / ] L
\ ; o] 3
FORM B g
a N
R [ -
* 263-11201 TC30H45WE06 J
* 263-11202 TC30H45WE08 30 8 45 28 o
* 263-11203 TC30H50WE10 30 10 50 35 J
* 263-11204 TC30H50WE12 30 12 50 42 [
* 263-11205 TC30H70WE16 30 16 70 48 J
* 263-11206 TC30H70WE20 30 20 70 52 ]
213-11326 TC40H50WE06 AD+B 40 6 50 25 J
213-11327 TC40H50WEO8 AD+B 40 8 50 28 J
213-11328 TC40H50WE10 AD+B 40 10 50 35 J
213-11329 TC40H50WE12 AD+B 40 12 50 42 [
213-11330 TC40H50WE14 AD+B 40 14 50 44 J
213-11324 TC40H63WE16 AD+B 40 16 63 48 o
213-11331 TC40H63WE18 AD+B 40 18 63 50 °
213-11325 TC40H63WE20 AD+B 40 20 63 52 J
213-11323 TC40H100WE25 AD+B 40 25 100 65 J
213-11332 TC40H100WE32 AD+B 40 32 100 72 [
213-11393 TC40H115WE40 AD+B 40 40 115 80 J
213-11333 TC50H63WE06 AD+B 50 6 63 25 o
213-11334 TC50H63WE08 AD+B 50 8 63 28 J
213-11335 TC50H63WE10 AD+B 50 10 63 35 °
213-11336 TC50H63WE12 AD+B 50 12 63 42 J
213-11337 TC50H63WE14 AD+B 50 14 63 44 [
213-11338 TC50H63WE16 AD+B 50 16 63 48 J
213-11339 TC50H63WE18 AD+B 50 18 63 50 °
213-11340 TC50H63WE20 AD+B 50 20 63 52 J
213-11341 TC50H80WE?25 AD+B 50 25 80 65 °
213-11342 TC50H100WE32 AD+B 50 32 100 72 J
213-11343 TC50H120WE40 AD+B 50 40 120 80 [
263-11343 TC50H120WES50 AD+B 50 50 120 100 J

Ersatzteile o Spare parts e Pieces détachées e Componenti e 3anacHble yacTu o Ef5

Y= Y= 43

(2] A= (3) A= (1) AE
ISO 40 811-102002 M4X5 2 811-102002 M4X5 2 6 811-106001 1
ISO50 811-102001 M4X4 2 811-102010 M5X6 2 8 811-106002 1
10 811-106004 1
12,14 811-106005 1
* Ausfihrung Form AD 16,18 811-106006 1
* Execution form AD 20 811-106007 1
* Forme AD 25 811-106008 2
* Forma AD 32 811-106009 2
* [/lcnonHeHne AD 40 811-106009 2
* T AD 50 811-106011 2




DIN69871.AD/B

MANDRINS POUR OUTILS TYPE WELDON-SERIE LONGUE
END MILL HOLDERS WELDON-LONG PROJECTION TYPE
BRENRREE-KPORN

DIN 1835 B

FORM AD

T IS S N I N I T
213-11344 TC40H100WEO6 AD+B 40 6 100 25 35 °

213-11345 TC40H100WEO08 AD+B 40 8 100 28 38 °

213-11346 TC40H100WE10 AD+B 40 10 100 35 40 °

213-11347 TC40H100WE12 AD+B 40 12 100 42 - °

213-11348 TC40H100WE14 AD+B 40 14 100 44 - °

213-11349 TC40H100WE16 AD+B 40 16 100 48 - °

213-11370 TC40H100WE18 AD+B 40 18 100 50 - °

213-11350 TC40H100WE20 AD+B 40 20 100 50 - °

213-11351 TC50H100WE06 AD+B 50 6 100 25 35 °
213-11352 TC50H100WEO08 AD+B 50 8 100 28 38 °
213-11353 TC50H100WE10 AD+B 50 10 100 35 42 °
213-11354 TC50H100WE12 AD+B 50 12 100 42 48 °
213-11355 TC50H100WE14 AD+B 50 14 100 44 50 °
213-11356 TC50H100WE16 AD+B 50 16 100 48 54 °
213-11357 TC50H100WE18 AD+B 50 18 100 50 56 °
213-11358 TC50H100WE20 AD+B 50 20 100 52 59 °
213-11359 TC50H100WE25 AD+B 50 25 100 65 - °
213-11362 TC40H160WEO6 AD+B 40 6 160 25 35 °

213-11363 TC40H160WE08 AD+B 40 8 160 28 38 °

213-11371 TC40H160WE10 AD+B 40 10 160 35 40 °

213-11372 TC40H160WE12 AD+B 40 12 160 42 - °

213-11360 TC40H160WE16 AD+B 40 16 160 48 - °

213-11361 TC40H160WE20 AD+B 40 20 160 50 - °

213-11396 TC40H160WE25 AD+B 40 25 160 65 - °

213-11397 TC40H160WE32 AD+B 40 32 160 72 - °

213-11364 TC50H160WE06 AD+B 50 6 160 25 35 °
213-11365 TC50H160WE08 AD+B 50 8 160 28 38 °
213-11366 TC50H160WE10 AD+B 50 10 160 35 42 °
213-11367 TC50H160WE12 AD+B 50 12 160 42 48 °
213-11368 TC50H160WE16 AD+B 50 16 160 48 54 °
213-11369 TC50H160WE20 AD+B 50 20 160 52 59 °
263-11301 TC50H160WE25 AD+B 50 25 160 65 70 °
263-11302 TC50H160WE32 AD+B 50 32 160 72 - °




DIN'69871 AD/B

MANDRINS POUR OUTILS TYPE WELDON-SERIE LONGUE
BREAmGRE-KPOAN

END MILL HOLDERS WELDON-LONG PROJECTION TYPE

DIN 1835 B

FORM AD

b
FORM B ‘é: |
263-11303 TC40H200WEQO6 AD+B 40 6 200 25 38 °
263-11304 TC40H200WE08 AD+B 40 8 200 28 41 °
263-11305 TC40H200WE10 AD+B 40 10 200 35 43 °
263-11306 TC40H200WE12 AD+B 40 12 200 42 48 °
263-11308 TC40H200WE16 AD+B 40 16 200 48 - °
263-11310 TC40H200WE20 AD+B 40 20 200 50 - °
263-11311 TC40H200WE25 AD+B 40 25 200 65 = °
263-11312 TC40H200WE32 AD+B 40 32 200 72 - °
263-11313 TC50H200WE06 AD+B 50 6 200 25 38 °
263-11314 TC50H200WE08 AD+B 50 8 200 28 41 °
263-11315 TC50H200WE10 AD+B 50 10 200 35 45 °
263-11316 TC50H200WE12 AD+B 50 12 200 42 51 °
263-11318 TC50H200WE16 AD+B 50 16 200 48 57 °
263-11320 TC50H200WE20 AD+B 50 20 200 52 61 °
263-11321 TC50H200WE25 AD+B 50 25 200 65 72 °
263-11381 TC50H200WE32 AD+B 50 32 200 72 - °

Ersatzteile e Spare parts ¢ Pieces détachées ¢ Componenti e 3anacHble yacTu ¢ E &

(= (=

4
N

o U5 o Y o

ISO 40 811-102002 M4X5 2 811-102002 M4X5 2 6 811-106001 1
ISO50 811-102001 M4X4 2 811-102010 M5X6 2 8 811-106002 1
10 811-106004 1

12,14 811-106005 1

16,18 811-106006 1

20 811-106007 1

25 811-106008 2

2

32 811-106009




DIN69871.AD/B

MANDRINS COURTS PORTE-FRAISE TYPE WELDON
SHORT END MILL WELDON HOLDERS

BRER AR EE
@D DIN 1835 B

FORM AD

3
PRSI ST W SN N N

263-11322 TC40H35WE16 AD+B 44 °
263-11323 TC40H35WE20 AD+B 40 20 35 44 [
263-11324 TC40H35WE25 AD+B 40 25 35 44 °
263-11325 TC40H60WE25 AD+B 40 25 60 49 o
263-11326 TC40H70WE32 AD+B 40 32 70 72 °
263-11327 TC50H35WE16 AD+B 50 16 35 70 [
263-11328 TC50H35WE20 AD+B 50 20 35 70 °
263-11329 TC50H35WE25 AD+B 50 25 35 70 °
263-11330 TC50H35WE32 AD+B 50 32 35 80 °

Extrakurze und feste Ausfiihrung Extra courts et version rigide

Extra short and Rigid Version Extra corti e versione rigida

OKCTPaKOPOTKOE U XKECTKOe UCMoNHeHe B %E A 1R [E Y

Ersatzteile o Spare parts e Piéces détachées e Componenti e 3anacHbie 4acTun o {4

(= (=

o 5 o S
1ISO40 811-102002 M4X5 2 811-102002 M4X5 2
ISO50 811-102001 M4X4 2 811-102010 M5X6 2

/’ = A i

a N 9 NE
263-11322 811-106006 - -

263-11323 811-106007
263-11324 811-106014
263-11325 811-106014

263-11326 811-106009 811-106026 1
263-11327 811-106006 : -
263-11328 811-106007 - -
263-11329 811-106008 = =

RPRRRPRPNRRRE

263-11330 811-106009




DIN'69871 AD/B

MANDRINS POUR OUTILS TYPE WELDON
END MILL HOLDERS WELDON  AVEC BUSE D’ARROSAGE
WITH COOLANT NOOSE FRONT FACE

BREXRARE, E&HkEH

DIN 1835 B
IR I
213-11383 TC40H50WE06-CNFF AD+B 25 °
213-11384 TC40H50WEO08-CNFF AD+B 40 8 50 28 °
213-11385 TC40H50WE10-CNFF AD+B 40 10 50 35 °
213-11386 TC40H50WE12-CNFF AD+B 40 12 50 42 °
213-11387 TC40H50WE14-CNFF AD+B 40 14 50 44 °
213-11388 TC40H63WE16-CNFF AD+B 40 16 63 48 °
213-11389 TC40H63WE18-CNFF AD+B 40 18 63 50 °
213-11390 TC40H63WE20-CNFF AD+B 40 20 63 52 °
213-11391 TC40H100WE25-CNFF AD+B 40 25 100 65 °
213-11392 TC40H100WE32-CNFF AD+B 40 32 100 72 °
263-11331 TC40H115WE40-CNFF AD+B 40 40 115 80 °
263-11332 TC50H63WEO06-CNFF AD+B 50 6 63 25 °
263-11333 TC50H63WEQ08-CNFF AD+B 50 8 63 28 °
263-11334 TC50H63WE10-CNFF AD+B 50 10 63 35 °
263-11335 TC50H63WE12-CNFF AD+B 50 12 63 42 °
263-11336 TC50H63WE14-CNFF AD+B 50 14 63 44 °
263-11337 TC50H63WE16-CNFF AD+B 50 16 63 48 °
263-11338 TC50H63WE18-CNFF AD+B 50 18 63 50 °
263-11339 TC50H63WE20-CNFF AD+B 50 20 63 52 °
263-11340 TC50H80WE25-CNFF AD+B 50 25 80 65 °
263-11341 TC50H100WE32-CNFF AD+B 50 32 100 72 °
263-11342 TC50H120WE40-CNFF AD+B 50 40 120 80 °

Ausfiihrung mit Kiihimittelzufuhr zentral und an dem Bund.

Durch die seitlichen Bohrungen und die Kiihimitteldiisen
ermdglicht dieses System das KiihImittel direkt an den

) : Kontaktpunkt des Werkzeuges zu leiten.
Screw Q uantity Screw Quant|ty AuBerdem erfolgt Zentral-Kiihlmittelzufuhr, wenn zwei Schrauben
die Bohrungen verschliessen.

With central and lateral cooling possibility.

Ersatzteile o Spare parts e Piéces détachées ¢ Componenti e 3anacHble yacTu ¢ {4

i= i= This type of system, thanks to two lateral holes, its to direct
5) A= o A= t:e'scﬁ’%ﬁfgﬁif tough th two bl o the comection pint o
the tool.
1SO40 811-102002 M4X5 2 811-102002 M4X5 2 Beesi(;):s, with the application of two screws on the balls, you can
have the lubrification trough the centre.
ISO50  811-102001 M4Xx4 2 811-102010 M5X6 2 e

Avec possibilité d'arrosage soit central, soit latéral.

5 g Ce systeme, avec les trous latéraux, permet, avec les deux billes
Locklng screw Quantlty Coolant noose darrosage de diriger le liquide sur le point de contact de 'outil.
De plus, il est possible d'avoir I'arrosage au centre en bouchant

avec des vis les trous des billes.

4 E Con possibilita di refrigerazione sia centrale che laterale.
° AE 9 OuesF;o tipo di sistemag grazie ai due fori laterali, permette,

mediante le due sfere di dirigere il getto del refrigerante nel
6 811-106001 1 PWZ1005D6x4.5 D2.5 punto di contatto_deﬂ_’utensile. Ir?c‘)ltre_, con I’applicazr’pne didue

3 811-106002 1 PWZ1005D6x4.5 D25 grani sulle sfere si ottiene la lubrificazione attraverso il centro.
10 811-106004 1 PWZ1005D6x4.5 D25 o o oo crspcnim, rs st rossser
12 P 14 811-106005 1 PWZ1005D6x4.5 D2.5 HanpaensTs COXK K MeCTy kperneHus: ;;e)«yu(ero UHCTPYMEHTa.
16,18 811-106006 1 PWZ1008D10x7 M4 F ST, 153 4T3 5 TS B, COK g
% siii0e008 2 ewzombize  ms s
32 811-106009 2 PWZ1012D12x8 M5 ismraman e O
40 811-106009 2 PWZ1012D12x8 M5 Zh ERALRERTEL TRARNEN




213-31317
213-31318
213-31319
213-31320
213-31322
213-31324
213-31325
213-31326
213-31327

213-31335
213-31336
213-31337
213-31338

MANDRINS POUR OUTILS TYPE WHISTLE NOTCH

END MILL HOLDERS WHISTLE NOTCH

TC40H50WNO06 AD+B
TC40H50WNO8 AD+B
TC40H50WN10 AD+B
TC40H50WN12 AD+B
TC40H63WN16 AD+B
TC40H63WN20 AD+B
TC40H100WN25 AD+B
TC40H100WN32 AD+B
TC40H115WN40 AD+B

TC50H63WN20 AD+B
TC50H80WN25 AD+B
TC50H100WN32 AD+B
TC50H120WN40 AD+B

MENSE 747

40
40
40
40
40
40
40
40

50
50
50
50

FORM AD

10
12
16
20
25
32
40

20
25
32
40

DIN69871.AD/B

50
50
50
50
63
63
100
100
115

63
80
100
120

25
28
35
42
48
52
65
72
80

52
65
72
80

DIN 1835 E

G I N S S N

Ersatzteile e Spare parts e Piéces détachées e Componenti e 3anacHble 4acTu o E {4

= =
= (1) =
1ISO40 811-102002 M4X5 2 811-102002 M4X5 2
ISO50 811-102001 M4X4 811-102010 M5X6 2

IO T T T

/= -
([ JERE o Ul "f-

6 811-106001 1 811-303043 1

8 811-106002 1 811-303081 1

10 811-106004 1 811-303082 1
12,14 811-106005 1 811-303083 1
16,18 811-106006 1 811-303084 1
20 811-106007 1 811-303084 1
ISO 40/25 811-106008 2 811-303098 1
ISO 50/25 811-106008 2 811-303085 1
ISO 40/32 811-106009 2 811-303098 1
ISO 50/32 811-106009 2 811-303085 1
ISO 40/40 811-106009 2 811-303098 1
ISO 50/40 811-106009 2 811-303085 1




DIN#698/1 AD

MANDRINS PORTE- FRAISES A DOUBLE USAGE
COMBI-SHELL MILL ADAPTORS

SEXTER RS
3 DIN 6358
L1 L2
Bl
I —
A N &= | °] 8
Il T O
EEN
RPM
216-11201 TC40H55D16C 40 16 55 17 27 32 °
216-11202 TC40H55D22C 40 22 55 19 31 40 °
216-11203 TC40H55D27C 40 27 55) 21 33 48 o
o) 216-11204 TC40H60D32C 40 32 60 24 38 58 °
% 216-11205 TC40H60D40C 40 40 60 27 41 70 °
o0 216-11206 TC50H55D16C 50 16 55 17 27 32 °
<Z( 216-11207 TC50H55D22C 50 22 55 19 31 40 °
('7) 216-11208 TC50H55D27C 50 27 55 21 33 48 °
216-11209 TC50H55D32C 50 32 55| 24 38 58 o
216-11210 TC50H55D40C 50 40 55 27 41 70 °
216-11211 TC50H70D50C 50 50 70 30 46 90 °
L3
L1 L2
A I‘@ I—@
1M
___D — - .:) 4 a 8
Il C
0 —®
=
216-11213 TC40H100D16C 40 16 100 17 27 32 44 °
216-11214 TC40H100D22C 40 22 100 19 31 40 - °
216-11215 TC40H100D27C 40 27 100 21 33 48 - °
216-11216 TC40H100D32C 40 32 100 24 38 58 - °
216-11217 TC40H100D40C 40 40 100 27 41 70 - °
216-11218 TC50H100D16C 50 16 100 17 27 32 50 °
216-11219 TC50H100D22C 50 22 100 19 31 40 60 °
216-11220 TC50H100D27C 50 27 100 21 33 48 60 °
216-11221 TC50H100D32C 50 32 100 24 38 58 - °
216-11222 TC50H100D40C 50 40 100 27 41 70 - °

Ersatzteile e Spare parts ¢ Pieces détachées ¢ Componenti e 3anacHble YacTu ¢ E

o ﬁ " % QE 0O [0 e—
16 814-30001 811-107003 814-201010 816-130002
22 814-30002 811-107004 814-201020 816-130003
27 814-30003 811-107005 814-201030 816-130004
32 814-30004 811-107006 814-201040 816-130005
40 814-30005 811-107007 814-201050 816-130006
50 814-30006 811-107009 814-201060 816-130007




DIN#698/1 AD

MANDRINS PORTE-FRAISE-ENTRAINEMENT
PAR TENONS BRIDE AJOUTEE
FACE MILL HOLDERS-TENONS DRIVE
WITH BIGGER FLANGE DIAMETER
FEENN - DERNHEERNEZER

ISO 3937

TC40,50

=
[ =5

!
It
!

LT

(

S|

-n---

216-71204 TC40H45D16F J
216-71205 TC40H45D22F 40 22 45 19 48 °
216-71206 TC40H50D27F 40 27 50 21 58 °
216-71207 TCA40H55D32F 40 32 55 24 78 °
A 216-71208 TCA40H55D40F 40 40 55 27 88 ]
216-71214 TC50H45D16F 50 16 45 17 38 o
216-71215 TC50H45D22F 50 22 45 19 48 °
216-71216 TC50H45D27F 50 27 45 21 58 o
216-71217 TC50H50D32F 50 32 50 24 78 °
A 216-71218 TC50H55D40F 50 40 55 27 88 o

A Zur gebohrten Ausfiihrung, siehen Sie bitte Seite 49
A For drilled version, please see on page 49

A Pour le modéle percé voir a la page 49

A Per versione forata vedi pag 49

A Onpasku 119 (aHLEBOro KpenneHrs dpes Ha cTp. 49

X

pag. 470-471

&

pag. 470-471

&

pag. 470-471

Ersatzteile e Spare parts e Pieces détachées ¢ Componenti e 3anacHbie YacTu o E{f

Cross screw
Cross screw on enquiry Tenon Screw

ozﬁ o o——

a% 9@'

16 811-107003 811-107013 814-202280 811-101004 816-130002
22 811-107004 811-107014 814-202250 811-101011 816-130003
27 811-107005 811-107015 814-202270 811-101018 816-130004
32 811-107006 811-107016 814-202630 811-101029 816-130005
40 811-107007 811-107017 814-202710 811-101029 816-130006




DIN#698/1 AD

MANDRINS PORTE-FRAISE-ENTRAINEMENT
PAR TENONS-SERIE LONGUE

FACE MILL HOLDERS-TENONS DRIVE-LONG PROJECTION TYPE
FERATIR - DEEH - KEORH

ISO 3937

cosen o
216-71255 TC40H100D16F 40 16 100 17 39 - - °
216-71259 TC40H100D22F 40 22 100 19 46 48 A o
266-71273 TC40H100D27F 40 27 100 21 55 - © °
266-71274 TC40H100D32F 40 32 100 24 66 - - °
266-71275 TC40H100D40F 40 40 100 27 70 - - °
266-71233 TC50H100D16F 50 16 100 17 38 - - °
216-71267 TC50H100D22F 50 22 100 19 46 48 A o
216-71272 TC50H100D22F 50 22 100 19 50 60 B °
216-71277 TC50H100D27F 50 27 100 21 55 78 © o
266-71256 TC50H100D32F 50 32 100 24 66 78 - °
266-71276 TC50H100D40F 50 40 100 27 70 78 - °
216-71256 TC40H160D16F 40 16 160 17 39 - - °
216-71260 TC40H160D22F 40 22 160 19 46 48 A °
266-71234 TC50H160D16F 50 16 160 17 38 - - °
216-71268 TC50H160D22F 50 22 160 19 46 48 A °
216-71273 TC50H160D22F 50 22 160 19 50 60 B o
216-71278 TC50H160D27F 50 27 160 21 55 78 C °
266-71257 TC50H160D32F 50 32 160 24 66 78 - °
266-71287 TC50H160D40F 50 40 160 27 70 78 - o
216-71257 TC40H200D16F 40 16 200 17 39 - - o
216-71261 TC40H200D22F 40 22 200 19 46 48 A °
266-71250 TC50H200D16F 50 16 200 17 39 - - o
216-71269 TC50H200D22F 50 22 200 19 46 48 A °
216-71274 TC50H200D22F 50 22 200 19 50 60 B °
216-71279 TC50H200D27F 50 27 200 21 55 78 C °
266-71258 TC50H200D32F 50 32 200 24 66 78 - o
266-71288 TC50H200D40F 50 40 200 27 70 78 - °

A/Fur Fraser D50 - B/Fur Fréaser D63 - C/Fur Fraser D80

A/Suitable for milling cutters D50 - B/Suitable for milling cutters D63 - C/Suitable for milling cutters D80
A/nooxoout ona dppes D50 - B/nogxoaut ana dpes D63 - C/noaxoaut ons dppes D8O

A/Adaptes pour fraises D50 - B/Adaptes pour fraises D63 - C/Adaptes pour fraises D80

A/Adatti per frese D50 - B/Adatti per frese D63 - C/Adatti per frese D80

A/i&EFF D50 $tJJ - B/i&FF D63 #t7J - C/i&FF D80 $tJJ ;
Ersatzteile e Spare parts ¢ Pieces détachées ¢ Componenti e 3anacHble yacTu ¢ E {4 \
EE a—
o o= @1 D &
16 811-107003 811-107013 814-202280 811-101004  816-130002 pag. 470-471
22/46 811-107004 811-107014 814-202250 811-101011  816-130003
22/50 811-107004 811-107014 814-202260 811-101012  816-130003
27 811-107005 811-107015 814-202270 811-101017 816-130004 h@.
32 811-107006 811-107016 814-202290 811-101029  816-130005
40 811-107007 811-107017 814-202180 811-101028  816-130006 pag. 470-471




DIN"698/71,AD/B

MANDRINS PORTE-FRAISE-ENTRAINEMENT PAR TENONS
AVEC ARROSAGE INTERNE BRIDE AJOUTEE
FACE MILL HOLDERS-TENONS DRIVE WITH INTERNAL
COOLANT SUPPLY WITH BIGGER FLANGE DIAMETER

THEEIR - CEEHEEABUNENTENEZER

ISO 3937

FORM AD

JNCITIINN [T I S I N

216-71301 TC40H45D16F AD+B 17 38 °
216-71302 TCA40H45D22F AD+B 40 22 45 19 48 °
216-71303 TC40H50D27F AD+B 40 27 50 21 58 ]
216-71304 TC40H55D32F AD+B 40 32 55 24 78 °
216-71305 TC40H55D40F AD+B 40 40 55 27 88 °
216-71306 TC50H45D16F AD+B 50 16 45 17 38 °
216-71307 TC50H45D22F AD+B 50 22 45 19 48 °
216-71308 TC50H45D27F AD+B 50 27 45 21 58 °
216-71309 TC50H55D32F AD+B 50 32 55 24 78 ]
216-71310 TC50H55D40F AD+B 50 40 55 27 88 o

®

pag. 470-471

&

pag. 470-471

&

pag. 470-471

Ersatzteile o Spare parts e Piéces détachées ¢ Componenti e 3anacHbie 4acTu o E{4

(= (=

(4] A= () A=
ISO40  811-102002 M4X5 2 811-102002 M4X5 2
ISO50 811-102001 M4X4 2 811-102010 M5X6 2

I T T T T
Eﬂ . a——
. , @ ED

16 811-107003 814-202280 811-101004 816-130002
22 811-107004 814-202250 811-101011 816-130003
27 811-107005 814-202270 811-101018 816-130004
32 811-107006 814-202630 811-101029 816-130005
40 811-107007 814-202710 811-101029 816-130006




DIN'69871 AD/B

MANDRINS PORTE-FRAISE-ENTRAINEMENT PAR TENONS
AVEC ARROSAGE INTERNE-LONGUE
FACE MILL HOLDERS-TENONS DRIVE-WITH INTERNAL
COOLANT SUPPLY-LONG
FEGE M - O EE NN

ISO 3937

FORM AD

-n----

216-71321 TC40H100D16F AD+B 100 17 )
216-71322 TC40H100D22F AD+B 4O 22 100 19 40 49 °
216-71323 TC40H100D27F AD+B 40 27 100 21 48 = °
216-71324 TC40H100D32F AD+B 40 32 100 24 58 - °
216-71326 TC40H100D40F AD+B 40 40 100 27 70 - °
216-71312 TC50H100D16F AD+B 50 16 100 17 32 42 °
216-71313 TC50H100D22F AD+B 50 22 100 19 40 59 °
216-71314 TC50H100D27F AD+B 50 27 100 21 48 60 °
216-71315 TC50H100D32F AD+B 50 32 100 24 58 68 )
216-71316 TC50H100D40F AD+B 50 40 100 27 70 - °

®

pag. 470-471

¥

pag. 470-471

&

pag. 470-471

Ersatzteile e Spare parts ¢ Pieces détachées ¢ Componenti e 3anacHble yacTu o Z {4

(= (=

o S 6 S
ISO 40 811-102002 M4X5 2 811-102002 M4X5 2
ISO 50 811-102001 M4X4 2 811-102010 M5X6 2

I T T T T
gﬁ ; a——
. NS ==

16 811-107003 814-20214 811-101003 816-130002
22 811-107004 814-20215 811-101010 816-130003
27 811-107005 814-20216 811-101017 816-130004
32 811-107006 814-20217 811-101027 816-130005
40 811-107007 814-20218 811-101028 816-130006




DIN69871 A

MANDRINS PORTE-FRAISE POUR FRAISES A SURFACER
FACE MILL HOLDER FOR FACE MILLING CUTTERS

TR SR
DIN 6357
b 1 .
T 203 N :l I@)
(E s>
TR I —
T : - j'L :l —

IR [T A N R N B

A 216-21201 TC40H60D40 40 66.7 M12 15.9
A 216-21202 TC50H70D40 50 40 70 89 66.7 M12 15.9 °
216-21203 TC50H70D60 50 60 70 129 101.6 M16 254 °

A INKLUSIVE INNENSCHARUBE ¢ SUPPLIED WITH INTERNAL SCREW e [TOCTABJISETCS C BHYTPEHHWM BUHTOM
VIS INTERNE INCLUSE ¢ FORNITO CON VITE CENTRALE INCLUSA o {3t 55 B 24t R4S 22

Ersatzteile e Spare parts ¢ Pieces détachées ¢ Componenti e 3anacHble yacTu ¢ E {4

Tenon Screw Screw Wrench

o) Eﬁ
o © o HFD o
40 814-202080 811-101028 811-107007 816-130006
60 814-202120 811-101063 = =

DOUILLES POUR CONE MORSE A TENON
MORSE TAPER ADAPTORS FOR DRILLS

ERER SRS

DIN 69871 AD

212-41201 TC40H50CM1P 1 O
212-41202 TC40H60CM2P 40 2 32 60 o
212-41203 TC40H70CM3P 40 3 40 70 O
212-41204 TC40H95CM4P 40 4 48 95 °
212-41205 TC50H50CM1P 50 1 25 50 O
212-41206 TC50H60CM2P 50 2 32 60 o
212-41207 TC50H65CM3P 50 3 40 65 O
212-41208 TC50H95CM4P 50 4 48 95 o
212-41209 TC50H120CM5P 50 5 63 120 O




DIN#698/1 AD

DOUILLES POUR CONE MORSE AVEC TARAUDAGE
MORSE TAPER ADAPTER WITH THREAD R
B REER X

DIN 228-2 FORM C

212-21201 TC40H50CM1F 1 J
212-21202 TC40H50CM2F 40 2 32 50 °
212-21203 TC40H70CM3F 40 3 40 70 [
212-21204 TC40H95CM4F 40 4 48 95 °
212-21205 TC50H45CM1F 50 1 25 45 J
212-21206 TC50H60CM2F 50 2 32 60 °
212-21207 TC50H65CM3F 50 3 40 65 J
212-21208 TC50H95CM4F 50 4 48 95 °
212-21209 TC50H120CM5F 50 5 63 120 [

Ersatzteile e Spare parts ¢ Pieces détachées ¢ Componenti e 3anacHbie 4acTun o E{F

TC/MORSE

== o B ® H
40/1 811-101029 - 811-302030
40/2 811-111007 811-111038 811-302031
40/3 811-111008 811-401098 811-302032
40/4 811-111005 811-401083 811-302036
50/1 811-101029 - 811-302030
50/2 811-101054 811-401084 811-302032
50/3 811-101065 811-401085 811-302032
50/4 811-401037 811-401086 811-302036

50/5 811-101092 811-401087 811-302034




DIN698/71,AD/B

DOUILLES POUR CONE MORSE AVEC TARAUDAGE
BHRRERE .

MORSE TAPER ADAPTER WITH THREAD

DIN 228-2 FORM C

t
T

7
11

i
!
!

T

I

FORM AD

(]

|
|
|

|
|
L
D

!
I
|

v

n—
T

\\\_'L_

m
)
e
<
w
=
T
W
W
\

L

212-31321 TC40H50CM2F AD+B 2 J
212-31322 TC40H70CM3F AD+B 40 3 40 70 [
212-31323 TC40H95CM4F AD+B 40 4 48 95 J
212-31324 TC50H60CM2F AD+B 50 2 32 60 °
212-31325 TC50H65CM3F AD+B 50 3 40 65 J
212-31326 TC50H95CM4F AD+B 50 4 48 95 J

Ersatzteile e Spare parts e Pieces détachées ¢ Componenti e 3anacHble 4acTu ¢ Z14

(& (&
o\ o \

40/2 811-102002 M4X5 2 811-102002 M4X5 2
40/3,4 - - 811-102002 M4X5 2
50/2,3 811-102001 M4X4 2 811-102010 M5X6 2
50/4,5 - - 811-102010 M5X6 2

o E=D Ro== o 1
40/2 811-111007 811-111038 811-302031
40/3 811-111008 811-401098 811-302032
40/4 811-111005 811-401083 811-302036
50/2 811-101054 811-401084 811-302032
50/3 811-101065 811-401085 811-302032

50/4 811-401037 811-401086 811-302036




DING98/71 AD

DOUILLES POUR CONE MORSE A TENON
ET AVEC TARAUDAGE

ERERATERX

MORSE TAPER ADAPTORS FOR DRILLS AND MILLS

DIN 228-2 FORM C/D

? [

Kombi Version

212-61201 TC40H50CM1P/F 1 O
a 212-61202 TC40H60CM2P/F 40 2 32 60 °
w2 212-61203 TC40H75CM3P/F 40 3 40 75 O
g 212-61205 TC50H45CM1P/F 50 1 25 45 °
~  212-61206 TC50H60CM2P/F 50 2 32 60 O
ﬁ: 212-61207 TC50H65CM3P/F 50 3 40 65 o
1 212-61208 TC50H95CM4P/F 50 4 48 95 O

212-61209 TC50H120CM5P/F 50 5 63 120 °

Kombi Version

212-61210 TC40H115CM1P/F 1 115 O
212-61211 TC40H125CM2P/F 40 2 25 32 125 °
8 212-61212 TC40H140CM3P/F 40 3 S8 40 140 O
% 212-61214 TC50H120CM1P/F 50 1 18 25 120 °
my  212-61215 TC50H140CM2P/F 50 2 25 32 140 O
'>_< 212-61216 TC50H150CM3P/F 50 3 33 40 150 °
- 212-61217 TC50H180CM4P/F 50 4 40 48 180 O
212-61218 TC50H220CM5P/F 50 5 55 63 220 °

Ersatzteile o Spare parts e Pieces détachées ¢ Componenti e 3anacHble yacTu ¢ E 4

1] e 1] 2]

212-61201 811-101033 - 212-61210 811-101037

212-61202 811-401018 = 212-61211 811-401015 =
212-61203 811-101034 811-302006 212-61212 811-101081 811-302006
212-61205 811-101033 = 212-61214 811-101077 =
212-61206 811-101057 - 212-61215 811-101078

212-61207 811-101070 = 212-61216 811-101079

212-61208 811-401016 - 212-61217 811-401030 -
212-61209 811-101071 811-302008 212-61218 811-101080 811-302008




DIN69871,AD/B

DOUILLES INTERMEDIAIRES SA X HSK A+C - SERRAGE MANUEL
SAXHSK A+C $E#Z% - FaRE

TAPER ADAPTER SA X HSK A+C - MANUAL CLAMPING

FORM AD

212-91301 TC40H60HSK50 AD+B H50A-AN H50A-UBL
212-91302 TC40H80HSK63 AD+B 40 63 63 80 HG63A-AN H63A-UBL
212-91304 TC50H60HSK63 AD+B 50 63 63 60 HG63A-AN H63A-UBL

Ersatzteile o Spare parts e Pieces détachées ¢ Componenti e 3anacHble yacTu ¢ E

o\ o \
ISO 40 811-102002 M4X5 2 811-102002 M4X5 2
ISO 50 811-102001 M4X4 2 811-102010 M5X6 2

DOUILLES INTERMEDIAIRES TC X SA
IO $EHEX

ISO TAPER ADAPTORS

DIN 69871 AD

--n-

212-11213 TC40H1001SO40/TC40 100
212-11201 TC50H70ISO40/TC40 50 40 68 70 °
212-11214 TC50H1201SO50/TC50 50 50 100 120 U

Ersatzteile e Spare parts e Pieces détachées ¢ Componenti

OUTSIDE Screw (ISO) Screw (TC) “ Wrench
== SR 1= = S | =

40 30 811-401085 811-401146 811-302032 816-20206002
40 40 811-401147 811-401150 811-302036 816-20207002
50 40 811-401147 811-401150 811-302036 816-20207002
50 50 811-401151 811-401152 811-302047 816-20209002

VerschluBschraube fur DIN69871/MAS BT/DIN2080 wird mitgeliefert und ist durchbohrt
Supplied with a bored screw DIN69871/MAS BT/DIN2080

Livré avec une vis de serrage DIN69871/MAS BT/DIN2080 percée

In dotazione vite per chiusura DIN69871/MAS BT/DIN2080 forata

NocTaBnseTcs ¢ BUHTOM C oTBepcTreM aasa DING9871/MAS BT/DIN2080

}2ft DIN69871/MAS BT/DIN2080 FLHMEET—1




DIN#698/1 AD

MANDRINS A PINCES TYPE ER
ER COLLET CHUCK
ERE sk
DIN 6499
L
| — 1 1L
i —
il o
= =

IR T N S N I

264-31237 TEK30H59ER16M 16M ]
264-31240 TEK30H65ER25 30 25 42 65 °
264-31238 TEK30H50ER32 30 82 50 50 ]
264-31239 TEK30H68ER32 30 32 50 68 °
264-31241 TEK30H57ER40 30 40 63 57 °




DIN698/1,AD/B

MANDRINS A PINCES TYPE ER
ER COLLET CHUCK
R Rk
DIN 6499
% g L
FORM AD Biki S
o |
’F’lfﬁ”“"f | o

IR =TT I NN N I Iy

214-91301 TC40H70ER16 AD+B L]
214-91302 TC40H70ER25 AD+B 40 25 42 70 °
214-91303 TC40H70ER32 AD+B 40 32 50 70 °
214-91304 TC40H70ER40 AD+B 40 40 63 70 °
214-91306 TC50H70ER32 AD+B 50 32 50 70 L]
214-91307 TC50H80ER40 AD+B 50 40 63 80 °

Zubehor —

Accessories b

Accessoires

Accessori ¢

%)?;a;wewocm pag. 158 pag. 158

High balanced

Ersatzteile o Spare parts e Piéces détachées ¢ Componenti e 3anacHble 4acTu ¢ E{f

m @
o (€ o € o — )
ISO 40 811-102002 M4X5 2 811-102002 M4X5 2 16 812-203069 811-303119
ISO50 811-102001 M4X4 2 811-102010 M5X6 2 25 812-203070 811-303121
32 812-203071 811-303118
40 812-203072 811-303122




DIN"69871 AD/B

MANDRINS A PINCES TYPE ER-SERIE LONGUE
ER COLLET CHUCK-LONG
ER BE R E-MK

DIN 6499

FORM AD

=) =EEEEe oo oo e Ao FEER=t T

|
~ [
e py e+ MM |1
R e e :

il
Il = et
| a = E

FORMB @1%: 5 @J‘

o T o [ Jersiones
32

pal

214-91308 TC40H100ER16 AD+B 40 16 100 22 32 [
214-91309 TC40H100ER25 AD+B 40 25 42 100 32 42 °
214-91310 TC40H100ER32 AD+B 40 32 50 100 40 50 °
214-91311 TC40H100ER40 AD+B 40 40 63 100 50 50 °
214-91312 TC50H100ER16 AD+B 50 16 32 100 22 32 [
214-91313 TC50H100ER25 AD+B 50 25 42 100 32 42 °
214-91314 TC50H100ER32 AD+B 50 32 50 100 40 50 °
214-91315 TC50H100ER40 AD+B 50 40 63 100 50 63 [
214-91316 TC40H160ER16 AD+B 40 16 32 160 22 32 °
214-91317 TC40H160ER25 AD+B 40 25 42 160 32 42 [
214-91318 TC40H160ER32 AD+B 40 32 50 160 40 50 °
214-91319 TC40H160ER40 AD+B 40 40 63 160 50 50 °

Zubehor —

Accessories b

Accessoires

Accessori Iﬁ \

%?gamewocm pag. 158 pag. 158

High balanced

Ersatzteile o Spare parts e Pieces détachées ¢ Componenti e 3anacHble yacTu o

Quantiy Quantiy nut | stop screw
—
(3] A= (4] A= 0o = (2]

ISO 40 811-102002 M4X5 2 811-102002 M4X5 2 16 812-203069 811-303119
ISO50 811-102001 M4X4 2 811-102010 M5X6 2 25 812-203070 811-303121
32 812-203071 811-303118
40 812-203072 811-303122




DIN698/1,AD/B

MANDRINS A PINCES TYPE ER MINI
ER MINI COLLET CHUCK

ER i fiR3s &k
DIN 6499
H
L
FORM AD l l - = e
N e R |
4 N — A
o— @
3
o
214-91333 TC40H70ER11M AD+B 40 11M 16 70 22 14 20 (]
214-91334 TC40H100ER11M AD+B 40 11M 16 100 40 14 21 °
214-91335 TC40H160ER11M AD+B 40 11M 16 160 50 14 29 °
214-91336 TC40H70ER16M AD+B 40 16M 22 70 27 20 26 (]
214-91337 TC40H100ER16M AD+B 40 16M 22 100 47 20 27 (]
214-91338 TC40H160ER16M AD+B 40 16M 22 160 97 20 27 (]
214-91348 TC40H70ER20M AD+B 40 20M 28 70 - 26 - o
214-91349 TC40H100ER20M AD+B 40 20M 28 100 48 26 31 °
214-91350 TC40H160ER20M AD+B 40 20M 28 160 98 26 33 °
214-91339 TC40H70ER25M AD+B 40 25M 35 70 - 33 - °
214-91340 TC40H100ER25M AD+B 40 25M 35 100 = 33 = °
214-91341 TC40H160ER25M AD+B 40 25M 35 160 103 33 36 °
214-91343 TC50H100ER16M AD+B 50 16M 22 100 47 22 28 o
214-91344 TC50H160ER16M AD+B 50 16M 22 160 97 22 30 °
214-91352 TC50H100ER20M AD+B 50 20M 28 100 48 28 33 (]
214-91353 TC50H160ER20M AD+B 50 20M 28 160 98 28 35 (]
214-91346 TC50H100ER25M AD+B 50 25M 35 100 = 35 = °
214-91347 TC50H160ER25M AD+B 50 25M 35 160 103 35 42 °
Zubehor
Accessories
Accessoires
Accessori _
%ﬁaﬂnamocm pag. 156

Ersatzteile o Spare parts e Piéces détachées ¢ Componenti e 3anacHble YacTu o E{f

F F ‘777;» @
(3] A= o A= 0 .. 2]
ISO 40 811-102002 M4X5 2 811-102002 M4X5 2 11M 812-203012 811-303081
ISO50 811-102001 M4X4 2 811-102010 M5X6 2 16M 812-203013 811-303119

20M  812-203014 811-303120
25M 812-203015 811-303121




DINGS8/71 AD

MANDRINS A PINCES TYPE ER
ER &R %

ER COLLET CHUCK

DIN 6499

ol
® -

RPM
16 32 55

214-31211 TC30H55ER16 30 J
264-31236 TC30H55ER20 30 20 35 55 J
214-31212 TC30HS55ER25 30 25 42 55 J
214-31228 TC30H60ER32 30 32 50 60 °
214-31241 TC40H70ER16 40 16 32 70 [
214-31238 TC40H70ER20 40 20 35 70 °
214-31201 TC40H70ER25 40 25 42 70 J
214-31202 TC40H70ER32 40 32 50 70 °
214-31215 TC40H70ER40 40 40 63 70 J
264-31233 TC50H70ER16 50 16 32 70 o
214-31250 TC50H70ER25 50 25 42 70 J
214-31203 TC50H70ER32 50 32 50 70 °
214-31204 TC50H80ER40 50 40 63 80 J

Ersatzteile o Spare parts  Piéces détachées e Componenti e 3anacHbie 4acTun o i

AN

7 N
16 812-203005 811-303119
20 812-203006 811-303120
25 812-203001 811-303121
32 812-203002 811-303118
40 812-203003 811-303122




DINGS8/71 AD

MANDRINS A PINCES TYPE ER-SERIE LONGUE
ER COLLET CHUCK-LONG F
ER #ERE-MK

DIN 6499

JETETN TR Y I A N N R

214-31242 TC40H100ER16 100 J
214-31257 TC40H100ER20 40 20 35 100 25 34 o
214-31232 TC40H100ER25 40 25 42 100 32 41 °
214-31230 TC40H100ER32 40 32 50 100 40 44 °
214-31286 TC40H100ER40 40 40 63 100 50 50 ]

Ersatzteile e Spare parts e Pieces détachées ¢ Componenti e 3anacHbie yacTu ¢ 14

A—N

16 812- 203005 811-303119
20 812-203006 811-303120
25 812-203001 811-303121
32 812-203002 811-303118
40 812-203003 811-303122




DIN698/71,AD/B

MANDRINS A PINCES TYPE ER
ER COLLET CHUCK R
ER ##E R %
DIN 6499
O v

E}@
v I | A
| e
”l

@ﬁg
©_

TN I N S S
RPM

214-31362 TC40H70ER16 AD+B 32 70 C
214-31383 TC40H70ER20 AD+B 40 20 35 70 °
E 214-31329 TC40H70ER25 AD+B 40 25 42 70 C
< 214-31331 TCA40H70ER32 AD+B 40 32 50 70 °
% 214-31333 TC40H70ER40 AD+B 40 40 63 70 O
< 214-31381 TC50H70ER16 AD+B 50 16 32 70 °
h 214-31341 TC50H70ER25 AD+B 50 25 42 70 C
214-31335 TC50H70ER32 AD+B 50 32 50 70 °
214-31338 TC50H80ER40 AD+B 50 40 63 80 C

TR N NN N B I I

214-31363 TC40H100ER16 AD+B 100 22 °
214-31384 TC40H100ER20 AD+B 40 20 35 100 25 35 °
214-31347 TC40H100ER25 AD+B 40 25 42 100 32 42 °
214-31348 TC40H100ER32 AD+B 40 32 50 100 40 50 °
214-31364 TC40H100ER40 AD+B 40 40 63 100 50 50 °
214-31365 TC50H100ER16 AD+B 50 16 32 100 22 32 °
214-31342 TC50H100ER25 AD+B 50 25 42 100 32 42 °
214-31336 TC50H100ER32 AD+B 50 32 50 100 40 50 °
214-31339 TC50H100ER40 AD+B 50 40 63 100 50 63 °

* Ausfihrung Form AD

* Execution form AD Zubehér

* Forme AD Accessories

* Forma AD Accessoires -
Accessori

* lcnonHenne AD
_ R [prHaa1EXHOCTI
* FITHER AD Ly pag. 178 pag. 149

pag. 149 pag. 157




DIN698/71,AD/B

MANDRINS A PINCES TYPE ER-SERIE LONGUE
ER S#E R K-k

ER COLLET CHUCK-LONG

DIN 6499

TN 3 ) S N N
RPM

214-31359 TC40H160ER16 AD+B 160 32 ]
214-31345 TC40H160ER25 AD+B 40 25 42 160 32 42 °
214-31346 TC40H160ER32 AD+B 40 32 50 160 40 50 ]
214-31366 TC40H160ER40 AD+B 40 40 63 160 50 50 °
214-31367 TC50H160ER16 AD+B 50 16 32 160 22 32 J
214-31368 TC50H160ER25 AD+B 50 25 42 160 32 42 °
214-31337 TC50H160ER32 AD+B 50 32 50 160 40 50 ]
214-31340 TC50H160ER40 AD+B 50 40 63 160 50 63 °
214-31369 TC40H200ER16 AD+B 40 16 32 200 22 32 °
214-31370 TC40H200ER25 AD+B 40 25 42 200 32 42 J
214-31371 TC40H200ER32 AD+B 40 32 50 200 40 50 °
214-31372 TC40H200ER40 AD+B 40 40 63 200 50 50 J
214-31373 TC50H200ER16 AD+B 50 16 32 200 22 32 °
214-31374 TC50H200ER25 AD+B 50 25 42 200 32 42 J
214-31375 TC50H200ER32 AD+B 50 32 50 200 40 50 o
214-31376 TC50H200ER40 AD+B 50 40 63 200 50 63 ]

Ersatzteile o Spare parts e Pieces détachées ¢ Componenti e 3anacHble yacTu o 1

: : N
o = o = 0 = 2]
ISO40 811-102002 M4X5 2 811-102002 M4X5 2 16 812-203005 811-303119
ISO50 811-102001 M4X4 2 811-102010 M5X6 2 25 812-203001 811-303121

32 812-203002 811-303118
40 812-203003 811-303122
Accessori

[prHaa 1XHOCTI

= pag. 178 pag. 149 pag. 157 pag. 149 pag. 157

Zubehor
Accessories
Accessoires




DIN'69871 AD/B

MANDRINS A PINCES TYPE EOC
ER COLLET CHUCK
R#EFL
DIN 6388
@

FORM AD

- E3 :1‘1

[T
=) . [":L"r"i a
_____ Ml R

I T I R N I T

214-11320 TC40H70EOC16 AD+B 43 70 °
214-11321 TC40H70EOC25 AD+B 40 25 60 70 °
214-11322 TC50H70EOC25 AD+B 50 25 60 70 °
214-11323 TC50H80EOC32 AD+B 50 32 72 80 °

" " . . : Zubehor
Ersatzteile o Spare parts  Pieces détachées ¢ Componenti  3anacHbie YacTu « 1 |y yseeum

Accessoires

Accessori

prHaaexHOCTH
=
& €
o\ o \ &
ISO 40 811-102002 M4X5 2 811-102002 M4X5 2
ISO 50 811-102001 M4X4 2 811-102010 M5X6 2 pag. 158 pag. 154

“~
) @ ) @ pag. 158

16 GOC16 811-303121 816-203033
25 GOC25 811-303123 816-203034
32 GOC32 811-303123 816-203036




DIN698/71,AD/B

MANDRINS COURTS A PINCES TYPE ER
ER COLLET CHUCK WITH INSIDE NUT

ER BER KRR

@—
FORM AD 1 &%
== :%

3
BN N N
214-31377 TC40H21ER25A AD+B
*264-31215 TC40H21ER32A 40 32 40 21
214-31378 TC50H21ER32A AD+B 50 32 40 21

* Ausfiihrung Form AD
* Execution form AD

: : *F AD
Quanty SN ~Fomasp

Ersatzteile e Spare parts e Pieces détachées ¢ Componenti e 3anacHble 4acTu ¢ Z14

/ / * |/lcnonHeHne AD
¢ ] ¢ * BT AD
= H 2
o\ o |
ISO 40 811-102002 M4X5 2 811-102002 M4X5 2
1ISO 50 811-102063 M5X4 2 811-102010 M5X6 2
E
o LI )
25A 812-203057 811-303121 CHER25EX
32A 812-203032 811-303118 CHER32EX

ARBRES POUR MANDRINS DE PERCAGE
HFET

ARBORS FOR DRILL CHUCKS

—n-

216-31201 TC40H40B16

L]
216-31202 TC40H40B18 40 18 40 °
216-31203 TC50H40B16 50 16 40 J
216-31204 TC50H40B18 50 18 40 o




OPERATING MANUAL FOR HIDRAULIC EXPANSION CHUCKS

!QQ—B’ A'—B"{

3K DIN 698971 Form B

Seal screws
dapth of the taol

i WM L,
74 S

|
/ Ei:
iﬂih: Clamping diameter SECTION A'-A”

-

Actuating screw

Minimum insertion
Yent screw, sealed

SECTION B'-B”
<~

e Please follow our operating instruction carefully to save time and avoid problems
[oxanyvicta, cneayiTe HalLmM UHCTPRYKUVSIM, YTOOb! n36exxaTtb npobsiem v noTepu BPEMEHM.
Raccomandiamo di seguire le nostre istruzioni operative per risparmiare tempo ed evitare problemi

Chart of technical data
Tabnva ¢ TEXHNHECKUMU XapaKTEPUCTUKAMMU.
Tabella delle informazioni tecniche

Chuck Depending on the Minimum : Max coolant

Diameter [ Shaft Clamping | mounting shank clamping Operating pressure Moment

(HC) (max RPM) lenght (mm) || temperature (bar) (Nm)

HC6 6 hb 40.000 27 20-50 80 8 Nm
HC8 8 hb 40.000 27 20-50 80 15 Nm
HC10 10 hb 40.000 32 20-50 80 30 Nm
HC12 12 hb 40.000 37 20-50 80 45 Nm
HC14 14 hb 40.000 7 20-50 80 75 Nm
HC16 16 hb 40.000 42 20-50 80 120 Nm
HC18 18 hb 40.000 42 20-50 80 170 Nm
HC20 20 hb 40.000 42 20-50 80 230 Nm
HC25 25 hb 25.000 48 20-50 80 300 Nm
HC32 32 hb 25.000 55 20-50 80 400 Nm

® The clamping force must be checked periodically. We recommend to check it before initial use and approximately
after 100 operations or every 3 months.

Ycunve sakmma HE0O6XOAMMO NEPUOANYECKN NMPOBEPSATL. Mbl PEKOMEHAYEM NPON3BOAMTL MPOBEPKY Nepes, MepBbIM
1CMONb30BaHMEM, Aanee npumepHo kaxkaple 100 onepauyn nnm kaxxaple 3 Mecsua.

La verifica della forza di serraggio deve essere fatta periodicamente. Si raccomanda di controllarla prima dell’utilizzo
e dopo circa 100 operazioni 0 ogni 3 mesi

ATTENTION /BHUMAHWE / ATTENZIONE

® \When tools or endmills are clamped into the hydraulic chucks, be sure that oils and dust are completely removed
from the internal surface of the hydraulic chuck and the external surface of the tool

[pwv ycTaHOBKE MHCTPYMEHTA B rApOonaTpoHe, yoeamTecs, YTO Ha BHYTPEHHEN MOBEPXHOCTY MaTpOHa v BHELLIHEN
[1OBEPXHOCTY MHCTPYMEHTa HeT Macsia v Mbl/iv.

Quando si montano gli utensili o le frese nel mandrino idraulico, la superficie interna del mandrino idraulico

e quella esterna dell’'utensile devono essere pulite da oli, polveri e residui




DIN69871.AD/B

MANDRINS HYDRO-EXPANSIBLES POUR OUTILS
HYDRO-EXPANSION CHUCKS FOR TOOLS WITH CYLINDRICAL SHANK A QUEUE CYLINDRIQUE

EREEIMORERKR X

FORM AD

I
-
[
i
Zl
I
|
|
LL——
I
]

Ll
t-—to 8 o &
NI | p—

FORM B

n..n

252-11305 TC40-HC6-80.5 49,5 80,5 295 M5*0.8 °
252-11307  TC40-HCB8-80.5 40 8 49,5 28 80,5 30 27 37 10 M6*1.0 °
252-11309 TC40-HC10-80.5 40 10 495 30 805 35 31 41 10 M8*1.0 ]
252-11311 TC40-HC12-80.5 40 12 495 32 805 40 36 46 10 M10*1.0 °
252-11313 TC40-HC16-80.5 40 16 495 38 805 45 39 49 10 M12*1.0 °
252-11315 TC40-HC20-80.5 40 20 495 42 805 47 41 51 10 M16*1.0 °
252-11317 TC40-HC25-80.5 40 25 63 55 805 28 47 57 10 M16*1.0 °
252-11318 TCA40-HC32-80.5 40 32 70 63 805 255 51 61 10 M16*1.0 °
252-11319 TC50-HC6-80.5 50 6 495 26 805 295 27 37 10 M5*0.8 ]
252-11320 TC50-HCB8-80.5 50 8 495 28 805 30 27 37 10 M6*1.0 °
252-11321 TC50-HC10-80.5 50 10 495 30 805 35 3t 41 10 M8*1.0 ]
252-11322  TC50-HC12-80.5 50 12 495 32 805 40 36 46 10 M10*1.0 °
252-11323 TC50-HC16-80.5 50 16 495 38 805 45 39 49 10 M12*1.0 °
252-11324  TC50-HC20-80.5 50 20 495 42 805 42 41 51 10 M16*1.0 °
252-11331 TC50-HC25-100 50 25 63 55 100 48 47 57 10 M16*1.0 ]
252-11332  TC50-HC32-100 50 32 70 63 100 61 51 61 10 M16*1.0 J

High quality

JCECT [ (3 I S
51

252-11325 SK40-G20CS-64.5 40 49,5 - 645 - M16*1.0 °
252-11326  SK50-G32CS-81 50 32 72 - 81 - 51 61 10 M16*1.0 °
Zubehor -
Accessories

Aocessories % Short Heavy Design
Accessori

/%JZFHH,C{HG)KHOCTVI pag. 154 20, 181




DIN"69871.AD/B

MANDRINS HYDRO-EXPANSIBLES POUR FRAISAGE DIN 69871-AD/B
HYDRO CHUCKS SUITABLE FOR MILLING, DIN 69871-AD/B
TESFEL, DIN 69871-AD/B

i i
———— 5

di
d:

----

252-11333 TC40-HC12-50 40 12 42 50 46 10 M8x1x13,5
252-11334 TC40-HC20-64,5 40 20 49 64,5 51 10 M16x1x13,5 °

MANDRINS HYDRO-EXPANSIBLES POUR FRAISAGE DIN 69871-AD/B
HYDRO CHUCKS SUITABLE FOR MILLING, DIN 69871-AD/B
TESEFE L, DIN 69871-AD/B

252-11335 TC50-HC12-50 50 12 42 50 46 10 M8x1x13,5 °
252-11336 TC50-HC20-64,5 50 20 49 64,5 51 10 M16x1x13,5 °
252-11337 TC50-HC32-81 50 32 72 81 61 10 M16x1x13,5 °




DINGS8/71 AD

MANDRINS A FORT SERRAGE
HFkk

MILLING CHUCK

JCTIN ECTTTI EEEN I R N T

214-01301 TC40H105C20 105

214-01302 TC40H105C32 40 32 72 105 -
214-01304 TC50H105C20 50 20 54 105 =
214-01305 TC50H105C32 50 32 72 105 -
214-01306 TC50H135C32 50 32 72 135 =

INKLUSIVE SPANNSCHLUSSEL o SUPPLIED WITH WRENCH e MOCTABJIFETCA C KITHOHOM
CLE INCLUSE e FORNITI CON CHIAVE INCLUSA o it 5B 12 4R F

Zubehor

Accessories

Accessoires

Accessori

%?ga,anewocm 2. 180| | pag. 155

TIR 0.005 TIR0.01

TESTBAR

\

|

|

|

|

|
@D

3xD

Milling chuck (diameter) l§ Specification (DIN) [ Tolerance (Taper shank) § Run-out (3xD) f Clamping torque

TC40 (0~+0,003) 0~0,01 980M.m (100 Kgf.m)
c32 TC50 (0~+0,004) 3430M.m (350 Kgf.m)




DIN"69871.AD/B

MANDRINS POUR FRAISER A VISSER
MILLING CUTTER ARBORS FOR SCREW-ON TYPE MILLING CUTTERS
BAE R IR

JEETETN NN BN TN N N RN N O

217-81320 TC40H55M8 AD+B 13 15 55 36 J
217-81301 TC40H69MSBAD+B 40 M8 8.5 13 23 69 50 °
217-81302 TC40H94M8AD+B 40 M8 8.5 13 28 94 75 J
217-81303 TC40H119M8AD+B 40 M8 8.5 13 25 119 100 °
217-81321 TC40H55M10 AD+B 40 M10 10,5 18 20 55 36 J
217-81304 TC40H69M10AD+B 40 M10 10.5 18 23 69 50 ]
217-81305 TC40H94M10AD+B 40 M10 10.5 18 28 94 75 J
217-81306 TC40H119M10AD+B 40 M10 10.5 18 32 119 100 o
217-81323 TC40H55M12 AD+B 40 M12 12,5 21 24 55 36 J
217-81307 TC40H69M12AD+B 40 M12 125 21 24 69 50 °
217-81308 TC40H94M12AD+B 40 M12 12.5 21 31 94 75 ]
217-81309 TC40H119M12AD+B 40 M12 12.5 21 33 119 100 ]
217-81326 TC40H55M16 AD+B 40 M16 17 29 32 55 36 J
217-81310 TC40H69M16AD+B 40 M16 17 29 34 69 50 [
217-81311 TC40H94M16AD+B 40 M16 17 29 34 94 75 J
217-81312 TC40H119M16AD+B 40 M16 17 29 36 119 100 °
217-81313 TC40H145M16AD+B 40 M16 17 29 40 145 126 ]
217-81327 TC40H175M16 AD+B 40 M16 17 29 39 175 156 o
217-81314 TC50H69M12AD+B 50 M12 12.5 21 24 69 50 J
217-81315 TC50H119M12AD+B 50 M12 12.5 21 33 119 100 [
217-81316 TC50H169M12AD+B 50 M12 12.5 21 40 169 150 J
217-81317 TC50H69M16AD+B 50 M16 17 29 34 69 50 °
217-81318 TC50H119M16AD+B 50 M16 17 29 36 119 100 J
217-81319 TC50H169M16AD+B 50 M16 17 29 42.5 169 150 °

Ersatzteile o Spare parts e Pieces détachées ¢ Componenti e 3anacHble yacTu ¢ E 1

\= =
o e

ISO 40 811-102002 M4X5 2 811-102002 M4X5 2
ISO 50 811-102001 M4X4 2 811-102010 M5X6 2




RALLONGES POUR FRAISES A VISSER
HIMEBLMIK

EXTENSION FOR SCREW IN TYPE MILLS

L
DIN 1835 B
] e
(o R | el (el —+=| I

1
|
i
- T
D1
D2

TN TN RN AN N N N

217-85201 D16H115M8 M8 12.8

217-85202 D16H160M8 16 M8 8.5 12.8 160 100
217-85203 D20H120M10 20 M10 10.5 17.8 120 60
217-85204 D20H160M10 20 M10 10.5 17.8 160 100
217-85205 D25H160M12 25 M12 125 20.8 160 100
217-85206 D32H160M16 32 M16 17 28.8 160 100

RALLONGES POUR FRAISES FILETEE
FIREDBLMK

EXTENSION FOR SCREW IN END MILLS

RTINS A N N K

217-85709 M8H30M8 12.8

217-85710 M10H35M10 MlO MlO 10.5 17.8 35
217-85711 M12H40M12 M12 M12 12.5 20.8 40
217-85712 M16H40M16 M16  M16 17 28.8 40




DIN69871 A

MANDRINS UNIVERSELS DE PERCAGE
TR Rk

UNIVERSAL DRILL CHUCKS

_;3%0

252-11211 TC40H100R1-13 100 1-13 816-111024
252-11212 TC40H115R3-16 40 115 57 3-16 816-111025
252-11213 TC50H100R1-13 50 100 50 1-13 816-111024
252-11214 TC50H105R3-16 50 105 57 3-16 816-111025

RUNDLAUFGENAUIGKEIT 0.04 MM PRECISION DE ROTATION 0.04 MM

Zur Erh6hung der Spannkraft werden diese Futter mit Spannschliissel geliefert. Les mandrins sont fournis avec clé de blocage

BEI LINKS LAUFENDEN BEARBEITUNGEN SIND DIESE pour augmenter la force de serrage.

FUTTER NICHT ZU BENUTZEN. NE PAS UTILISER DANS USINAGE AVEC ROTATION A’ GAUCHE

RUNOUT ACCURACY 0.04 MM TLR. o PRECISIONE DI ROTAZIONE 0.04 MM

Supplied with spanner wrench to allow the application Per incrementare la forza di serraggio i mandrini sono forniti

of supplementary gripping torque. con chiave di bloccaggio.

DO NOT USE IN REVOLUTION IN COUNTER-CLOCKWISE DIRECTION. NON DEVONO ESSERE USATI PER LAVORAZIONI

BUEHVIE 0,04 MM CON ROTAZIONE A SINISTRA.

[0CTaBNAETCA C KII04OM [18 60MEE CUTBHOO 3aXiMa. AU 0.04 MM TIR.

HE BPALLIATS MPOT/IB YACOBOV CTPETK/ USRS A RE .

TRATERS KBS,

MANDRIN DE PERCAGE CNC POUR ROTATION GAUCHE-DROITE

NC DRILL CHUCKS FOR LEFT AND RIGHT ROTATION
EATER NC $ik %k

DIN 69871 ADB

@ﬁﬁ ol T
| ] LY
FORM B N

252-11301 TC40H90R1-13X 1-13 816-152001
252-11302 TC40H95R3-16X 40 95 57 3-16 816-152001
252-11303 TC50H90R1-13X 50 90 50 1-13 816-152001
252-11304 TC50H95R3-16X 50 95 57 3-16 816-152001

RUNDLAUFGENAUIGKEIT 0.03 MM PRECISION DE ROTATION 0.03 MM

Sowohl fiir rechts- als auch links laufende Bearbeitungen geeignet, Utilisables pour rotation droite et gauche,

mit Hochstgeschwindigkeit von 7000 u/min. avec maximale vélocité 7000 rpm

RUNOUT ACCURACY 0.03 MM TR, PRECISIONE DI ROTAZIONE 0.03 MM.

Suitable for right and left rotation up to 7000 rom. Adatti per rotazione sia destra che sinistra,

con velocitd max di 7000 g/min.
BVEHWE 0,03 MM
MOXHO BpalLLaTh NO- 1 NPOTVB YaCOBON CTPENKIA BRIEIEE 0.03 MM TIR.

€O CKOPOCTBI0 70 7000 O6/MYH. BERTRE®ESL 7000 8/ £ AlesE




DIN 69871 A

BARRES D’ALESAGE SEMI-FINIES
BLANK TOOLHOLDER WITH SOFT SHANK
HRARH IR 147

DIN 69871 A

—-—

217-41204 TC40H160D40.5SM 40.5 160
217-41205 TC40H160D63.55M 40 63.5 160
217-41206 TC40H250D63.55M 40 63.5 250
217-41207 TC50H160D80SM 50 80 160
217-41208 TC50H200D80SM 50 80 200

217-41209 TC50H300D80SM 50 80 300




M3008
M3010
M3110
M3210
M3030
M3130
M3230

DIN69871 A

MANDRINS DE TARAUDAGE A CHANGEMENT
RAPIDE A DOUBLE USAGE

TENSION AND COMPRESSION TAPPING HEAD

TC30H60GR1.DC
TC40H60GR1.DC
TC40H92GR2.DC
TC40H138GR3.DC
TC50H62GR1.DC
TC50H83GR2.DC
TC50H133GR3.DC

sl Js]en ] o T ]

40
40
40
50
50
50

WAMEGR LBk

L

M3-M12
1 M3-M12 9 9 19 38 60
2 M6-M20 15 15 St 53 92
3 M14-M33 24 24 48 78 138
1 M3-M12 9 9 19 38 62
2 M6-M20 15 15 31 53 83
3 M14-M33 24 24 48 78 133

MANDRINS DE TARAUDAGE A CHANGEMENT
RAPIDE SANS COMPENSATION

SOLID TAPPING HEAD

B e W2 3k

T

pag. 146

M5020 TC40H59GR1.SC M3-M12
M5040 TC40H82GR2.SC 40 2 M6-M20 31 50 82
Zubehor
Accessories
Accessoires
Accessori
[prHaa IeXHOCTI




SONDERWERKZEUGHALTER
CMELMANbHBIE UHCTPYMEHTbI

PRODOTTI SPECIALI

=
b
*

L

KCINTEK 073



